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S T TG R SO R

In Section-il, ca.'ndh'.tal: has to :Itempt the questions of Hindi language compulsorily and any of the two languages — English

ar L'Ird s per fis) plic
'ﬁfw& hm?wﬁnﬂmﬁmﬁmﬂmmq’twﬁ Hiel e 35 4 % ol T W owe ane
In Section-11, it m-:nu:pqlnwr tn attempt the questions of Section (111a) nraucunn (Il subject applied in peation Form.
Tm ﬁm X M %ﬂ"mmg“hﬁ Tanliwawrrm w# aﬁlmm;}aﬂ#ﬁ

te candida ] l,n attempt all sections, Each guestion is of ome mark, There is no ne r Answer.
The OMR Answer Sheet consists of Lthres copies, q‘hnmﬂhhcmnhmIMtwtnrﬁ"ﬂERMﬂ“::t‘ﬂum

qﬁéﬁé’i“ ﬁﬂmhmmwmmhmmtm mﬁm‘%?ﬁxomm

T T W] ¥ | OfieT wat vl WA anaelt OMR 39T 9% 3 7Y i v uee-

Fey e o s sepam, vo weR o3 W Pt aei | il e g
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SECTION — I ~ W7 - I
PEDAGOGY - Trmmmm=

There are 30 questions in all in this Section. All questions are compulsory.
v F Fw 0wA § | Wit v afEd ¥

Authoritarian level teaching 1=

(&)  teacher centred B chikl centred

[C) headmaster centred () experience based,
e =1 weEE W #

(v Tous wEa (B] B WiwA
0w HfEE D) g e
Character i developed by

[ will powrer B} conduct and behaviour
[C)  morality (D) all of these.

=itz w1 fars v v

EVIR oA (B) WA\ UF SEER 5
i) AfEwa s ) 3 E

Which of the following is nol a level of teaching-learning ¢

(%  [fferentiation level B Memaory level

[} Reflctive level (M Understanding level.
o f A o Tgw-sfum s wR W # ¢

ic) feerwie = D} ¥9HE &0

If & student 18 too shy Lo participate in class, you will

(&)  not ask guestions from him

[B) ask only those questions from him whose answers can be glven by him

[C) mnot ask those questions whose answers are beyond his means due to which he
may become an object of ridicule in the class
ask gquestions from him only when he is keen to answer those.

.wﬁwﬁmﬂfmﬂ'mﬁﬁﬂmmt?ﬂm

(%) THE W R g

B T v % 7w oaw g f, e == v S

(i mﬁ?ﬁﬁﬂhﬂrmaﬂ:mﬂﬁmthﬁmwmﬁmmm
o T

D) TEE e T e T W a3 T 4 i fer s 0
Teacher behaviour ought to be |

(4 administrative (B instructive
i) sdealistic D) directive.
fanrs = =f9 g =i

[4)  WETHACS B foramee

() et D) P |
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11.

Girl's education should be given priority because

(A girls are more intelligent than boys

(B)  girls are less in number than boys

(C)  girls were badly discriminated against in the past

(0] only girls are capable of leading a social change,

=ifers e =t wew < 3w & S

(W e TR & s grgeE §

(B =ferend smewl @ sevHEs F

(C)  wrfta o arfemadl = o o | fatfes fear = @

(D) Tt wrfas fmd & g § Sae aifesnd wad #

The success of integrated education depends on

A the support of community Bl excellence of textbooks
()  quality of teaching-learning material [D] attitudinal change in teachers.
wafm faen &t wee fsit o &

(A} e ¥ wEdE T (B) YETTEHR F THEE W

(C)  Toeqm- wfirms Fwg =t qomEw W D) Foeewi § sfvgfom gfmd= w
The best remedy for a student's problems related with learning is

(A4  suggestion for hard work (B}  supervised study in library
(C}  suggestion for private tuition (D)  diagnostic teaching.

wferma | defim freh famdt = aoemsdl = 998 oem sER 2

) FER R w1 g B) Trure # frifim e

() . it fereror =1 goms D) TreFmaE fawr |

A teacher can motivate students by

{4}  giving prizes- (B giving proper guidance

(C)  giving examples (D) delivering speeches in class.
T Toreen foeniei 1 saf@ w5t v 2

(A) U BT B w8t ariesls w0

[C) Z=mEwm 2= (D) e o sy FmwT

If a student does not pay respect to you, then you will '

(&) ignore him (B) - award less marks in exam.
i)  talk to his parents ()  rebuke him,

afg 1% famdl sqet g 2 s & 9t oy

(A)  FH 0 HL (B) e § ww i 29

[C) 5% wfayEs! 4 = w60 (D) 39 =l

Development of human values which are tniversal in nature means

fa) indoctrination (B) adoption

{C) imitation (D)  manifestation.

AR el i vt o et & & faem o o &

(W) AT (B) s

) FgFTm () sfysafs
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12.  In order (v understand his students, a teacher should b well-versed in
() child psychology
(B}  inclination towards understanding children
IC)  optnions of students towards the subject matter

(O} all of these.
Hﬁﬁaﬁﬂﬁaﬁﬂnﬁ#ﬁqﬁmﬂaﬁﬂmﬁaﬁq
(8 == wEHifaam 5 B) == Ft wogs 51 waf =

(€) Tava 7w & wfa Frenfeldl % w0 D) g
13. In which of the following stages do children become actlve members of their peer

group ?

1)  Adolescence (B} Adulthood
(C)  Early childhood D] Childhood.
1 H R W W = o s ¥ whe wee w § o
) v (B) FUEHTEE
(C] W ArETEEE (D) ST |

14, Mind mapping refers to
A a technigue to enhance comprehension
(Bl  a plan of swtion for an adventure
(€]  drawing the pleture of a mind
(D} researching the functioning of the mind.

T e &
W AT # FER U T B <ifEm vt F ¥ foao wd g
[C) w4 =1 fam == (D) ¥ % T # =
15, Which of the following s not considered as a slgn of ‘being gifted' ?
(A} Creativity in ideas (B) Fighting with others
(T} Novelty in expression (D) Curiosity.
T TR A P A A e o
W faEnt § gasm (B) 3w F =y =
i) fasis § sEmm (I FaEd |

16. A normal 12-yvear old child 13 most likely to
4 have difficulty with gross motor coordination
B have anxiety feelings about Pleasing adulis
i€ confine his/her interests 1o the here and now
{3 be eager for peer approval.
OF T 1299 30 F = wEd wieE o g ¢
A FE WF wr=m Y Fer
(B) Tl % ga W ¥ an F e 3t sy
(C) o= 3l 7l ¥ Tt ol =1 wifim w0
D)  \oFd & FgEr % foe St |
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18.

19.

20.

The reason why students run away [rom school is

(&) lack of interest in class teaching
{(B) lack of interest in studies on the part of students

(C) ot giving punishments to students

D) callous attitude of teachers towards the problem.
forerera A Pl &1 s oA @ v

W T fasm | wE S ANE

B foenfddl § serga | w9 W A9E

jc) farenfeidt =t ove & &0

D) T & i faerrl % frda afefe

In order to develop the spirit of labour in students

{4}  the teacher himself should indulge in labour

(B] the teacher should deliver lectures on the importance of labour
{C) students should be given nppﬂrtunliﬂeﬁ to do labour from time to lime
(D) students should be given examples of people who labour.
fepefefei & am w1 wpr w1 o w3 % o

) forrs o Et g F wela R

() faser s & He TR Fm

)  TEm-a el B A . A e

D) Tl F1 gm0 A @ IEem ¥ wEm |

Child development is defined as a field of study that

&) examines change in human abilities

(B} secks 1o explain behaviour across lifespan

IC) compares children to adulis to senior citlzens

[0} accounts for the gradual evolution of a childs cognitive. social and other

capacities.
o famma w1 ST @ anAEA AR E A
(A} e el ¥ aiEda w i e E
(B) e sl ¥ S =EEn e g
(C) T F T aa A0S AT F WY e B
(D) Frelt 7l 1 ST, W A9 A Awedl @ i faw o Iwer w0 o
Knowledge of child psychology is a must for a primary teacher, because
{4 it helps in making children disciplined
[B] the examination result is Improved
(C] it becomes a conventent mode for motivating children
(D) it helps the teacher in understanding the behaviour of children.
wrafis fo & fo am wifaar #1906,
(A)  E T w1 e W f wEEa H ¥
B) e & whomm § 3=fa g
(C) %ﬁﬁmﬂﬁﬁﬂmﬁ#fﬂqgﬁmaﬂmmm%
(D) % w o w g § feen w1t wer e o
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21.

22,

23,

24,

25,

In order to modify the undesirable behaviour of a student the most effective method is
(&)  to punish the student

{(B) to bring it to the notice of the parents

(T} to find out the reazons for the undestrable behaviour and provide remedies

D toignore it

famndl & smaifen =gem = fefen i 50 F w98 7vel 9t &

) frmd %t 0= i

B afyEst F wm F o

[C) w=ifon ==eR & SR F ge0 16 IR F W H0

(D) 39! e w0 |

Some students send a greeting card to you on Teacher's Day. What will you do ? You
will

{a)  do nothing (B} say thanks to them

(C) ask them not to waste money (D} reciprocate the good wishes to them.
st Terr foam W go faenfdidl & we surd o S & ) a9 T w00 7 o

W Fo T w0 (B) I w=mEr &0

Q) = U = s o v F fam e (o) 3 R A g
When a student fails, It can be understood that

A the system has falled (B} the teacher is a [ailure
iC) the texibooks are a fallure Iy it is the iIndividual's fallure.
v uF famdt swwm om & o wwen W ¥

) vzfr srEE B) free swwe &

(C) TEMETh SHEE & (D) oF HufFF AEEEN B |
The most important trait of a student is

(4  sense of responsibility (Bl honesty

[C) cooperation () obedience.

et foremeff =t et werergul farsingen &

() It w ay B) A

() wEwfTn (D) - swarETE )

You are teaching in class and a student asks a question unrelated to the topic. What
will you do ?

&) Allow him to ask unrelated questions

(B) Not allow him to ask any unrelated questions

iC) Consider it as indiscipline and punish him

¥  Answer the question after class.

a1y forelt o 12 wgTe # o e ferenedf R @ srEg v W qeA 1 e w0 2
{8 W g WA TS w1 At 9 (B) TR sWag WE Y94 w1 A T8 2
(C) 38 T-srgafan wwwt sfoen Hii (D} =0 % oG W W I A
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26. At primary level, it is better to teach in mother tongue because

(A) it develops self-confidence in children

(B) it makes learning easy

{C} it is helpful in intellectual development

(D) it helps children in learning in natural environment.

gt i W e ¥ faan 3 e €, w6 s 9w

(&) == A smtavars W e w o

B) afume = WA T

[ g fawm o wgmEaE HOm

(D) WiEhwE wmawE ° S ) ures § wewa S |
27. What is most important while writing on blackbeard ?

(8 Good writing {B) Clarity in writing

(C) Writing in big letters (D) Writing in small letters.

ez W fowd wvg Tl v Fn d 7

() =t feramEe (B) wiETH wEm

(C) =% el | foen (D) 2R ayd F e
28. A student comes late in your class. You will

(4)  inform his parents (B) punish him

(C) try to know the reason (D) not pay any attention to him.

ST e o U WA S W W § 1 W

(A)  =OF AMvEST %1 giEn S B Idd=EN

(C) O AFA iR R (D) FHWHE o= T8 A |
29. How should students be motivated in school ?

{A) By selected study (B] By incidental study

{C) By intensive study (D) Learning by recitation.

faenera § faenferdl =1 &8 sibnifag son fma & 7

(N T T EEE g B) WEfTE st g

(C) TEA AT THI (D) Wt T Fa

30. The aim of education should be
(4)  to develop vocational skills in the students
(B] to develop social awareness in the students
(C) to prepare the students for examination
(D) to prepare the students for practical life.
Tonan =1 3899 B0 =If8Q
(&) Taenfeal & =meafos Sy 1 HEE w00
B) famfdE § aenfas smrEwa = fawm w0
() ot = witen & fog o &0
(D) srEEfe e ¥ fog Rrenfedt # R w0 0
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31.

32,

33.

SECTION - II
SPECIAL INSTRUCTION : There are questions on J languages in this Section.

Each language consists of 30 questions. The candidate has to answer the questions of
First Language Hindi compulsorily. Out of the other two languages, the candidate has
to answer any one — either English or Urdu as Second Language, chosen by him /
her in the Application Form. Total number of Language questions to be answered by
the candidate is 60,

For First Language questions all answers are to be marked in the OMR Answer
Sheet starting from 31 to 60,

For Second Language questions all answers are to be marked in the OMR Answer
Sheet starting from 81 to 90,

fayra e wmﬁsmﬁ%mﬁ,ﬁmmﬁaﬂmﬁ | $nadl F) wem v fe %
I F T AT R FEE | o @ e — I srear = 4 A et R 9 I R
W E A AR T S E ) ol F 0w ¥ FA 60 v Fam M E

Ve T W kg sl w3 oMR IO w 31 60 7 fafgm wrd |
fiitar st 26wl &g amvarodt w0t it 3w OMR 99T R 1 61 #90 7 fafgm e |
WA - I
waw T - f5f ( sifard )

WA A FE 30 ¥ | Rt W it §

WA 1 Yt e gfd

) TEEwEE (B) AW

€)== D) fawEmr |
Frefefem og &1 v amm

Furzity

() sEE B ¥3
C) v D) wgey |
TR T ¥ e o 4

I e e

[a)  ferdmm B HW

[C) wEam )
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34, Trafataa sl § fFa-fadeo g% o SH-@ & 7

(. H we e wwdem (B) &% FA el ®

(©) e - ww wE R (D) &= ¥9 T=hel = |
35. fTa=fafas & dres = gf9 -

(&)  dren B) ==

[C) gu=mEn D) F71
36. ‘weng’ few wig W osseem 7

() = wi B) o= afy

() = = Ay D) T = Ak
37. 'HR = e W= Fem

Ay HI B) HI

c) g D) WS |
38. Ty=fafas e & st 9f v .

v s |B)  afy

c) = (D) g
39. Al % FTER Y& Y F TG HiTog

LV ® ¥

cy 3 (D) ST )
40. ‘=H=m' = gatgEarEt =g gfag

)y ez B e

(c) i (D) T

10 |
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41. TN A TOE FEE SEEST HOATTE 0

I = H e =aEy

() = FEE (B {9 FF

(C) HHEH HF (D) = FEE
42. *m'mﬁmﬁﬁw% 7

) FF W= B)  #rTEg =g

() s e D) P e |
43, ‘esremgEEn’ ¥

(A 290 =g (B) A w=

(C) i v (D) -'-E"EI-T{ = |
44. 'srER’ = fawm = #

(A - sETER B) AER

) e (D) fE=m
45. Fr=afafas w= =1 vt gf@

gEATEH

(A §H B T

© 3 D W
46. Frafafea o= % frd Mo frswedl § aeam = = v Fif

Ay wHem (B) Fe

(C) =ow (D)  wEd

47.

Frefafem =l § & 1a w9 9@ .

A)
(B)
(C)
(D)

TR Hivraedt e o faae S o wm &
THT AT A = faare €13 o w1 &
TAR HhuraEdl s = faae € W o &
AN} et e w fEw e W T

11 |
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ag. fr=fatea wee =1 afy-fa=g = g ?

r=d

A B W+ A

() W+ S=E (D) W + =Ed |
49. Tr=fafas a==d 4 9 o w9 g .

(A)  TETL Fel aeer Tageeel s fan W oet= weew ®

(B) WL Fel aFv Fagahi i fen o s=1 9= ¥

(C) ®HN g&l Aagaeh] =i & sl 3= Wae ¥ |

(D) =Wl wel Aagawl #1 foen &1 o= vy ¥
50. ‘uA' = gAfgard S owsr Wl & 3@ g

(A) = (B) S

) = (D) e o
51. ‘=OEl" WIiA-H 9HE ¥ 7

)  =gHfe B =

© fam R —
52. 'Y = wATTATHl wex ET ®

W T ® =

(C) &A= D) fea |
53, fr=fafaa 4 @ s=-a1 = "o’ = gaigars = TE E 7

W B R

(© (D) Ha |

12 |
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54.

55.

56.

57.

58.

59.

G0

T T w et el € % fee wew v g

W Fm ghs (B)  Wegesta
(C) et (D) TTEed
‘Trfor = wfa-fa=ae B
@ TR ® 1w
© e D) B+
T F AT Y@ v oy wifw
) T B g
© T D) g
T S UEE gan B, T o uw vies, W 3w € fafa -
R ® fa=
© e o wd
aﬁa’_mmﬁﬂm'ﬁq'ﬂﬁﬁ:
I L B) T
)  TE=w O grew
Ffafiaa = =1 wom =y -
AT S
A ® T
€ s o =

. TS U | firg
IHF AF F FS qAEY
(A) HHEN (B) e R —
) S e (D)  +T FrE |

13 |
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SECTION - 11
Second Language — ENGLISH
There are 30 questions in all in this Section.
All questions are compulsory.

6§1. Choose the sentence where the comma is placed correctly :

{4 Yes the play was, fun.

B Nol _did.n‘t, go backstage.

(C] Well, the ending did surprise me.

(D} No Mohan. was the lead actor.
62. Choose the option which gives the correct abbreviation :

{a) Janu. 12, 1965 (Bl Laxmi Paper Comp.

[C) Satur., May 19 (D) North St
63. Choose the correct spelling :

() calenndar B} celender

(C) calandar (D} calander.
64. Choose the correct spelling :

{A) preveledge (Bl previlege

{C) privilege (D) priviledge.
65. What does the phrase ‘cream of the crop’ mean 7

(A)  putting cream in coffee (Bl the worst of a group.

{C) icing a cake (D) the best of a group.
66. The word pair — discrete and discreet — are called

(A)  homonym (B) homophone

(C) SYTIONYIN (D) antonym.

14 |
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67.

68.

89,

70.

71,

72,

Choose the noun form of the given word :

strong
(A}  strongly (B) strongness
(C) strength (D) strengthen.

Choose the noun form of the given word :

grave
(A)  gravely (B] graveness
(C) gravel (D) grawvity.

A very brief pause in a sentence is marked by using a/an
(A} semicolon B) comma
(C)] apostrophe (D)  period.
In the given sentence tdentify the gerund :

Jogging is a good exercise.

&) jogging (B) is

(C) good D exercise,
Idi.;.:ntif].r the type of word that is underlined in the given sentence :
All the people cheered.

(A) noun (B] pronoun

[C) adjective (D) werh,

Identify the type of word that is underlined in the given sentence :
It's sheer r_ubblsh,

(A) noun (B] pronoun

)  adjective ) wverh,

15 |



UPTET(Teacher Eligibility Test) Solved Question Paper II- 2011 jAaz;

nnnnnnnnnnnnnnnn

73. Choose the singular form of the given word :

gulfs
(A engulf (B) gulp
(C}  gulf (D) golf.

74. Choose the correct sentence :
(A)  Of water take this glass (B) Take glass of this water
[C)  Take this glass of water (D) Take this water of glass.
75. Choose the word that is spelt incorrectly :
A dulcet (B] convulse

(C)  principal D) negetive.

76. Choose the word that is spelt correctly

(A  difine (B) maime

(C)  perfidy (D}  ingrace.
77. Thismovieis ........cooeeeieaeen... than the last one.

(Al best (B] pood

iC) better D] worst,

78.  Ravl wasn't thinking ................oceeee. .
(A} clear (B] unclear
Q1 clearly (D) unclearly.

79. Choose the part where there is an error in the given sentence ;

[ went to the library to get as many information as [ could
A (B) (C] (D)
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BO. Choose the sentence that is correct with respect to punctuation and capitalization ;

81,

82.

83.

B84,

(&} how glad we were to see Aunt Rekha !
(B)  She was visiting us for summer.
(C) Had she missed us.

(D] we welcomed her into our home ?

Which statement is correct ?

Statement 1 : We considered the matter farther.
Statement Il : We considered the matter further.
(Al Bothland]ll

(B)  Onlyl

(C)  Only iI

(D) Neither I nor I1.

What is the past participle of ‘ride’ 7

(A& ride M rode

IC) rides (D} ridden.

What is the simple present of ‘grew' 7P

A grow (B] growth
[C)  grown (D) grows.
Choose the adverb from the following :

(A} walk (B)  badly

(C)  good (D) fast.

17 |



UPTET(Teacher Eligibility Test) Solved Question Paper II- 2011

JAGRAN

£ Josh

85.

86.

87.

88.

89.

Q0.

Choose the adverb from the fﬂflnwmg :
(&)  hardly (B)

{C) harder (D)

Identify the type of verb in the given sentence :

He slept.
(&) transitive verb (B)
() regular verb ()

Choose the superlative form of ‘fast’ :

A) fast (B)
(C) fastest 18]]
If the superlative is least, then the positive is
(A)  least (B)
C) little (D)
What is the comparative form of ‘bad” 7

A) bad (B)

{C)  beiter (D)

Fill in the blanl :

KA EAIBABLA AR

(A) Few Bl
c) Much (D)
OR / 394

cereaee. time has already been wasted.

hardy.

intransitive verb

irregular verb.

faster

fastly.

less

lesser.

worse

worst.

Maxy

All of these,

18 |
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Pl e2li (B Jb s2bi (A)
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91.

92,

83,

SPECIAL INSTRUCTION FOR SECTION IO
In Section-IIl there are two sub-sections 111 (a) and U (b), Section-1IT (a) consists of
B0 questions in Mathematics and Science. Section-111(b) consists of 60 questions in
Social Studies. The candidate has to answer either lll{a) or Ill{b) as chosen by him /
her in his / her Application Form. For questions of Section-1Il, candidate has to mark
all the answers in the OMR Answer Sheet from 91 to 150.
Wr - 0 T fave e
W - 111 T FE NI () A 1L (b) ¥ 1 W - 111 (a) # WP @ faga ¥ 60 wm F
M- I (b) ¥ wfas werm F 60 7w ¥ vl w .fedlt wR - 10 (a) AT
NI (b) 1 3% 9 HETT 07 F 36N w00 & | ¥M - U F ¥ &g anaeff 5 5wt o0 OMR
IWTEH 91 § 150 v fafga s & |
SECTION - III(a) / T - II{a)
MATHS AND SCIENCE - nfora g faam

There are 60 questions in all in this Section. All gquestions are compulsory,
A H F4 eo WA § 1| wvit v s §

The bright. attractive part of a flower is

(Al  corolla (Bl sepals
(€ - petals (D} pedicel.
T F SHhICN a9 STEYE o

[ =Eg B) =Em =
i) =\ (DL~9%9 77 |
Cholera is caused by

(4)  bacteria B] virus

(C] insect D}  toxn.
e g #

) At g (B) 3R E
[C) I g (D) e B o
Eggs are a rich source of

{#) fibres (B) protein
(C) carbohydrate (D) fat.

#% 3om wim §

(W) e @ B EE @
[C) =S & D) = F |

24 |
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94. Jute fibre is obtained from which part of the plant ?

E Leaf (B) Flower
Stem
. (D} Root.
WY % fEm 9 @ 5z og om s 2
YR i B) =
< @ Dy 7=
95. Rice and wheat can be termed as
(A) pulses (B) cereals
(C) wvegetables (D) fruits.
e a9r Y F1 Aaa o oy 3
(A) Tl FETH (B) = & w9 o
(C) wfesaf & =g o (D) el F=TH |
96. Flants that produce their own food are called
A) autotrophs (B) heterotrophs
[C) saprophytes (D} parasites.
T Sl ST mr = Sy ¥, weend &
& eErETE (B) eTgTw
([C) HurwEs (D) T
97. Flowering plants that bear flowers, fruits and seeds are called
{A) cryptogams (B) ferns
(C) EyMmnosperms (D} angiosperms.
T, WE 991 S 9 S 9 B gu O weeny § '
() e m\  wE
(C) fFa=iregd (D)  wfegresd
98. Which of the following is a dicotyledon 7
E Grass B) Mango
Maize
(D)  All of these.
F= A & fgstoosft sl & 7
(a) =8| B) &M
(C) #==d (D) 779 & 9 )
99. Single-celled animals are classified as
A arthropods (B) mammals
) Protozoans (D)  meoelluscs.
WS ren wiforl w1 witew ey smar &
(A) - ghitz F =g By Wi Fegd

(C) wiEmem & =y D) Hres=F F ®9 T
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100. The roots of a banyan tree are
(A climbing roots (B)  stilt roots
(C) breathing roots (I} adventitious roots.
A 0 ¥ o &
(a) et TE (B) E=W A
(C) Ta&7 T (D) sTgEsnf=h H= |
101. Water that is absolutely pure and free from any impurity is known as
() distilled water (B) mineral water
(C) spring water () boiled water.
579 & 9ol 9 9 g% 909 I[E I T Fel o ¢
(VI IS G B @EfF= ==
(C) T W S (D} S=ren gam AE |
102. By which methed is a solute obtained from a sclution ?
(A) Sedimentation (Bl Decantation
[C) Filtration (D) Ewvaporation.
fFaTghgu o e A fra m s asa € 2
(A  HAFEEA (B A=
() =ATHEA (D) =A==
103. Which of the following is a water-borne disease ?
(&) Diphtheria [B] Tetanus
{C)  Hepatitis (D) Malaria.
wm Atm I g 7
(a)  Fegdfom B fer=
() Emfem (D) HeATE |
104. Constituents of quartz are silicon and
{A)  oxygen (B] sulphur
(C) nitrogen (D) hydrogen.
A & gy § fafaswia g«
(A) ST B) HFRL
) AR (D) TESEE
105. The burmning of which causes the most air pollution ?
(A} Coal (B] CNG
<) LPG (DM Hydrogen.
T et |/ gag wivs 9. v g & 2
(a)  =HIEED Bl CNG

€ LPG (D) wEsEE |

26 |
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106. Which of the following substances is nol miscible with wa'.ner ?

(&) Milk
{C)  Alcohal

3% F @ S vk w1 F i g g 2
VA

(C]  aterigw

107. Which is not a reversible change ?
(A} Water to water VEADOLUF
(€}  Burning of kerosene
et wfied sh-m i 2
&) WEH um
(C) T = ww

(B] Honey'
(D} i~

B] TEs
)

(B] Melting of iron

(M Condensation of water vapour.

(B) wier ® firaeen
(D) 9 =1 Hew

108. The molecules of which of the following substances contain the same kind of atoms ?

) Oxygen
(C) Carbon dioxide

(Bl Water
(D) Sulphur dioxide.

ﬁﬁrﬂ’ﬁﬁmﬂmﬁaﬂqﬁfﬁwﬁm%mrﬁt ?

() s
(C) =M EEawaRe

B ==
D) VP EEAEEES |

109. Which of the following formulae represents a molecule of ozone ?

W o,

© H,O,

T & Fh-w g s = w et & 2
W o,

© H,0,

I'10. Which of the following is an alloy ?
&) Iron
[C]  Stainless steel
Feaddsnfagag i ?
A e
Q) w=Tew =

B o,
(D)  None of these.

B o,

(D) 378 8@ % 72
(Bl Gold

(D) Copper.

(B) WM

(D)t

27 |
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113.

114,

115.

£ Josh

When a force of 1 N acts perpendicularly on an area of 1 m2, the pressure is
i~ 1 joule B} 1 pascal

i) 1 watt (D) 1 farad.

| T 2 S W s w W HE w0 S 1 == 9@ % fer 2@ Fe
W 1E B) 1 TEERE

) 19 o) 1%TE
How many ergs are there in 1 joule 7

w107 B 10°

iy 10° o) 102

| ot # o i B E 7

A 107 B\ 10°

© 104 D) 102

A foree applied to a machine to do mechanical work is called
") load B) effort

[y outpul D) efficiency.
feit et T iR w3 WA o wEe

) W (B) waHE
 fim (D) BEE |

An example of natural magnet 1s

) iron (B) steel

{C) lodestone (D) all of these.
Tt e W SaE

[A) B =

() TEE-Tel (D) oE G|t
The Iabillt}" to do work s called

(&) power (Bl energy

(C) mass (D) heal.

wrd w3 = e Feen @

&y T B =

) w9 (D) o0

28|
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116. The SI unit of area is

A mm= B) cm?

(C) m?2 I  km?2

#TF T SIFHE §

W o 2 (B) H

ST D) fedt 2,
-117. What does angstrom measure ?

[a) Quantity of lguid (B] Length of light waves

{C) Length of cables (D) Speed of ships.

W ATYeE ¥ 7

W) wE R A (B) Wemr @l @ T

(C) wfawt =1 e (D) T = ==
118. A comb attracts small pieces of paper due to

Al frictional force (B magnetic force

(C) gravitational force D} electrostatic force.

T FH FFO F D gHS F AR w1 w0

& o wfE =5 (B) =g Ew

(C) e == (D) Teer Sgfasta =@e |
119. Force can be measured using a

(4  spring balance B) thermometer

IC)  caloritneter {3} none of these,

e *1 =9 W OFEA

& feEm gen & wEm ga (B) wHiHeT g/

([C) Feiridtzt gr- (D) w7 A wr T
120, Friction can be increased by

(A) applying oil B] moisture on the surfaces

(C) rough surfaces (v all of these.

Y Y TG W A

W A = (B) wael Wt g

[C) =it wael gm (D) 70 & =t
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121.

122,

123.

124,

125.

The surface area of a cube is 96 cm *. What is the length of its side ?
A 4cm B 5Scm

i) Gcm (D) & cm.

frelt == =1 g A 96 Ui A R | gEET e ) wHaT wm w

) 4 B 5%

) &% (D) sFH |

The degree of the polynomial 4x* - 3x% + BxY is

W 6 B 5

icy 3 o 2.

TER 4x? - 3x5 + 8x S F FE T

A} B B 5

c 3 m 2.

A straight line intersecting a circle at two points 12 a

(Al tangent (B] secant

i) chord (D) segment.
ﬁﬂfﬁﬁﬁiﬂﬁﬂaﬁﬂqﬂﬂﬁiﬁﬁﬁﬁﬁmmt

W e B #=F

fcy St (D) T°E |

fset A=|2 3 4.5 6)andset B={3. 5 7.9} then how many clements are there
nANB?

w0 B 1

cy 2 o 3.

o wr= A=1{2 3 4.5 6} wg=a B={3.5 7.0 }d a N B femt sEga ¥ 7
0 B 1

c 2 o 3.

The number of elements in a set is called

1A  ordinal number (B) natural number
(C} counting number (D] cardinal number.
foreit T # sEeEl W WEm W §

(a)  FEYER WA @ W wE

[C) T HEN (D) W@ HEA |

30 |
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126. An article marked at Rs. 8,000 is sold for Rs. 7,200. What is the discount

percentage ?
A} 10% Bl 8%
(C) 12% (D) 11-19%.
fereit =g =1 #ifrm 970 8,000 %0 £ &R 7,200 Fo ﬁﬂ_iﬂ'ﬂrﬁi% | g2 whavm # § 7
A& 10% (B) 8%
€ 12% D) 11-1%.
127. Whal is the complementary angle of 55" ?
(EY 1807 B) 90
) 125 (D) 35"
55" & Y& H0 7 Z 7
A 1807 B 90
i) 125° () 35°.
128. Find the degrees in an angle which is 0-2 time a straight line angle.
(A} 207 B 3z
c) 3e° (D) 457,
Torsl STata F FT 0.2 T 0 fE st W e 7
w 20 | 32
© 36 D) 45
129. The letter ‘D" has .........c....... lines of symmetry.
Al one B two
[C)  three D} none of these,
@t "D H T wwfirg v § 2
& = B =
() D) T & FE T

130. A closed wooden box measures externally 20 cm long, 14 em wide and 9 em high. If
the thickness of the wood is 1 cm, find the weight of the box if 1 em? of wood

weighs 0.5 g.
) 272¢g (B) 496 g
C) 504 g D) 534 g

T W% TS w H oAafr A 20 0, drerd 14 90 9w ¢ 0 A ¥ | ofx w1
Al 1 A A 1 A S w1 A 0-5 90 2, @ v w5 A e o |

(8" 272WH (B] 496 TR
(C) 504 7MW (D} 534WH |

31 |
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131. What is the square root of 29 7?
A 64 B 48
i) a2 D) 16,
28 wigE F g 7
A} B4 (B 48
) a2 D) 16.
132. A field 1s 80 m in length and 60 m in width. The ratio between its width and length is
N 3:2 B 3:4
) 4:3 o) 2:3
e e ) o 80 o st 60 & 1 e qw e & = arE Em
A 3:2 B 3:4
) 4:3 D) 2:3.
133. The angles of a triangle are in the ratio 3 : 7 : 8. Which is the greatest angle 7
A} 607 B 7O°
[C} 795° D) 80"
FRPEmEFT 3 7: 8% A AE T AN Y ?
& 80’ |\ 70
iC) 75" (y 80°.
134. In a class of 50 students, 40% are girls. How many boys are there ?
A 20 B 10
IC) 25 D) 30.
50 faenfifdi =1 oF wa § 400 wefedl & wa § fear wEH € 2
A 20 B) 10
i) 25 D) 30.
135. Express as a decimal :
Rs. 37-25 + Rs, 230 _ _;_[ Rs. 30-45 - Rs. 1:20 }
Rs. 12:67 - Rs. 4-76 0| Rs.,9-58 - Rs. 6-33
@ Rs. 4-10 B) Rs. 375
[C) Rs: 5-30 (D) Rs. 5-80.
T o oqw WA
37.25%c +2:30%0 _ _1_.[ 30.45%0 - 1.20% }
12.67%0 — 4.76% 10| 9.58%c - 6-33%¢
(A  4-10%e B 375%0
‘C)y 530Fc (D) 5-80%e |

32 |
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136. Fill in the blank :

000187 X coviieiiiaas = 18-7.

A 100 (B) 1000

) 10000 (D) 100000,

foer wam =1 qfF Fifag -

000187 * .ovveerrrnns = 18-7.

A 100 (B} 1000

) 10000 @ 100000,
137. Subtract giving the answer in kg.

4317 g from 23 kg

(A  19-683 kg (B) 18-383 kg

(€ 19-383 kg (D) 18683 k.

e fm o 39 =ifan -

23 fwm ¥ 4317 0

(A 19-683 fFm (B) 18-383 f=m

(C) 19-383fFm (D 18-683 fFm
138. A 4-85 m long pole is divided into 5 equal parts. What is the length of E.al:hpart ?

(4 085 m (B) 097 m

() 095 m @ 092 m.

TH 4-85H T G@Y H 5 wvE vyt F fawfas o wen #  wEs wm w5y wied e 2

(A} 0-85 B 0974

) 0-95T D) 0929 |
139. What is the value of 2x3 if x=5 7

{A) 225 B} 250

) 125 (D) 150.

2x 3 WA FNEM AR x =5 7

(&) 2285 (Bl 250

[C) 125 (D) 150.
140. What 1s the square of O-02 ¥

Ay 0-0004 B 0-004

) 004 D] 0-4.

g0zF el F=m & ? j

(&) 0-0004 (B) 0-004

) 004 o 04,
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141, g Is a/an ..ooccieiieiinnaninnne..,. fraction.
) proper (B) improper
(C]  mixed (D) unlike.
) 3fm B) s
[c) fasx (D) Tawfta |

142, A post has one-fifth of its length in the mud, one half in the water and the rest of ft
10 ft in length is out of the water. What is the whole length of the post ?

A 26M6in (Bl 33ft4in
(C) 36 ft D) 37ft9oin
qmﬁmaﬂﬁaﬁméaﬁ%ﬁ;ﬁ,wwﬁﬂmﬂqmﬁzaﬂa’mﬁwﬁ%m%nﬁmaﬂ
EUR e I
(&) 26%RE 639 (B) 33WkE 439
[C) 36 wR D) 37%RE 9591
143. Choose the option that is arranged in descending order
32 8 5 2 89 2 3
W 3376 12 B 15:-16-3-2
3 9 2 5 9 5 3 2
(L] i'16'3' 19 (D} 16°12'4'3
el FH w1 fawew gi
32 9 5 5 9 23
W 431612 B 13-16'3'1
3 9 2 5 5 3 2
© $16 312 © 161243
144, What is the least fraction which when subtracted frmnﬂg—sg+ llzil-will make the
result a whole number 7
1 1
W3 B &
1 1
© = o 5.
ﬂﬂﬁﬂﬂﬁﬁ.ﬂﬂﬁﬂ4%—33+ll-ﬁﬁl—ﬁﬂeﬁmwwqﬁﬂnﬂi’w?

A (B)

I ] -

&) (D)
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145. Simplify the following :

)

(R 8 By 6

c) 10 oy 12,

=1 =l wE wifa

1 1Y%.{1 1
(3+5)+(5-5)
1

A 6 B 6

(Cy 10 D 12
146. How many primé numbers are less than 25 7

& 5 By 7

C} B m 9.

25§ FH AW S At 7

w5 B 7

< 8 Dy 9.
147. The largest number that divides 99, 132 and 165 without a remainder is

A 3 ' B 11

C) 15 D) 33.

fa =1 YEF ¥ 90, 132941 165 T WM A9 JEwd Hen

i 3 B 11

Iy 15 (D) 33,
148. What is the HCF of 24, 12, 36 and 60 ?

(&) 4 B 6

cy 12 D 24.

24, 12, 36 74 60 FH HoHo FNE§ 7

A 4 Bl &

wy 12 (D) 24,

149. Three search lights flash at intervals of 20 s, 30 s and 45 s. The time between two
simultaneous flashes is

A) 5s Bl 90s
iC) 120s D] 180 s. _
3 udenge 20%), 300 AW 459 & dovd W W TR ¥ | &) gon 6T F o=w w owm
w54 (B) 90%"
i) 1209 (D) 1809 |
150. What is the LCM of 10, 15 and 20 %
&) 60 B) 40
(€ 30 D) 20.
10, 15341 20 Fodo FME 7
(4} 60 B) 40
(C) 30 (D) 20.

OR [ A9=0
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93.

94,

SECTION - III(b) ~ ¥T - III(b)
SOCIAL STUDIES / BT eqa
There are 60 questions in all in this Section. All questions are compulsory.
79 UM B Fe 60 WH £\t wy wfend §

King Harshavardhana's capital was at

(Al Prayag IB] Hannauj

(C]  Ujjain (D) -Pata]iputra.
TN wHaHA Ft e o

&) A B) e

(€ T D) wefag o
Kailash temple at Ellora was built by the

()  Chalukyas [B) Cholas

[T} Pallavas [0} Rashirakutas.
THA 1 Fern wfgr w Fto e oo

W =gt g (B) = g

(€ eerEl g (D) TEFS gw |
How many wings does a village panchayat have 7

VR | B 2

<y 3 oy 4.

T A % e v ¥ 2

A) 1 B 2

i 3 o 4.

The head of a Municipal Committee is known as

(a) Councillor (B) Mayor

(C) Collector (D) Chairperson.
R A T ST e

W T B FH

36 |
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95. The village court is called
(4} Gram Sabha (B) Nyaya Panchayat
(C) Gram Panchayat (D) Gram Adalat.
Y ETgTeTd weend &
(&) IE A (B) =™ Y=TEd
(C) oMW ¥=mEw (D) W e |
96. How many states does India have 7
(A) 29 B 28
(<) 27 D) 26.
ur ¥ el @t wen fea € 2
A 29 (B} 28
) 27 (D) 26.
97. Who founded the Arya Samaj ?
(A) Swami Dayanand (B) Shankaracharya
(C) Swami Vivekananda (D) Raja Rammohan Roy.
A warE w1 e e oo 7
@ T Tar B) viwTEr
(€ w&nh fadEes (D) TN TwHEA TE
98. On whose advice is the State Council of Ministers appointed ?
Fet] Governor (B) Pﬁme Minister
(C} President (D] Vice-Presidenl.
e gas W e s fgfs et & 7
(&) T (B) WuEHHA
[c) Tufa (D) TwEafa |
99. Who was the founder of the Mauryan empire ?
(&) Ashoka (B} Bindusara
(C) Chandragupta (D) Pushyamitra.
o AR o1 HeTYeh Wi o1 ?
(A) e B fagEr
€ == (D) g=HHA |
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100. Fa Hien visited India during -the reign of

(%)  Harshavardhana (B) Ashoka

() Chandragupta 11 (D) none of them.

e e IRAEE & SR YA 1 2R e a2

(A} THEER (B) T

() == T (D) ¥ & =E & |
101. Which state was the first to establish the Panchayati Raj institutions ?

(&)  Rajasthan (B] Maharashtra

(C) Bihar (D) Uttar Pradesh.

T T wened w1 i wdvem faw oo 3 e o 2

(A) TR (B) WEWE

c) faww (D) & W29 |

102. Constitutional Government means
Al Govt. according to the terms of the constitution
(Bl Govt. based on the rule of law
(C) Democratic govt.
(D) all of these.
ot T W oad

(A) wHfEur st ol % SEER wE (B) A F ATAR WHH
(C) AR T (D) 78 || |
103. "Panchsheel” was signed between
(&) Nehru and Chou En-lai [B)] Nehru and Mandela
(C) Gandhiand Chou En-lai (D) Gandhi and Mandela.
"gayital’ T EEAT I o .
@A) e o we-eE F e B) “wE AR uEw ¥ &=
i) Tt afT =t w-wE W | (D) it s wEen & = |
104. When was the Constitution of India finally signed by the members of the Constituent
Asgembly ? :
i)  26th November, 1949 (B) 24th January, 1950
[C)  26th January. 1950 (D) 28th February, 1950.
HiauH w9 F. 5wl g0 9iA % Ofaym W sq § w9 sEen g w !
[A) 26 7E®, 1949 (B} 24 99F11, 1950
(C) 26 w==d, 1950 (D) 28 w&d, 1950.
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105,

106.

107.

108,

109,

110.

Who was the head of the Constituent Assembly ?

) B.R. Ambedkar B) B.N. Rao

() J.L. Nehru ) V. Patel.

HiGYE T &1 WY S o9 ?

(A} Weo¥Ro sT=E=EHT (B) HloTHAe ITE

[C) Foude dos (D) =fe 9&d |

The anclent name of Assam is

{A) Pawa (B) Kamrup

(C) Pippalivan (D) Ramgram.

FEH T U AH R

(a) T B) wFEEY

(C) Taoer== (D) THOE |

Dilwara temples are examples of

(A) Jain architecture (B2} Buddhist architecture
(C) Mughal architecture (DY) Sultanate architecture.
TeeETgT AfET Fgms €

(A) 9 I F (B) g T &

(C) e O (D) HoaTg =Y F )
Chanakya was also known as

tA) Bhattasvamin (B) Rajsekhara

[C) Vishnugupta (D) Visakhadatta.
=0T w fFE AW | ot s s # 2

(a)  wzEETH (B) IToEER

(€) TEwrE (D) favmEEw |

Who is NOT associated with medicine ?

() Dhanwvantari (B3] Bhaskaracharva
(C) Charaka (D) Susruta.

safy 4 fFoem dey =T & 2

(A s B)  ERIEE

(C) == Dy 9 1

The President of India can be removed from his/her office by the
{Aa) Prime Minister (B) Supreme Court
i) Chief Election Commissioner (I Parliament.

AA o UEWfd ®1 IEF S § g2 W e

&) wuEHEE g (B) T==a9 =Hmaerd gl
([C) HEA TAE G 5 (D) S g
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111. The first nuclear test in India took place in 1947. What was it called 7

(A)  Shaktil (B) Tornado
[C) Chagai (D)  Smiling Buddha.
v F wam sofas v 1947 F genm o | T8 W T § S o & 2
() wfE I B =S
i) = (D) & gL 9% |
112, .'Shakunta.lan:t' was written by
(A)  Kalidas (B) Bhasa
(C}) HKamban ()  Asvaghosha.
‘e frd &
(A e A B 9=
[C) A A (D) FEEE A |
113. In the Third Battle of Panipat, the Marathas were defeated by
A Mughals (B] - Afghans
(C) English (D) Sikhs.
aHgE = ded TeE § gusl w5 ofea e oo
@ T A (B) ST
(C) FPR=T A (D) feerdi A
114. Who said "Swaraj is my birthright" ?
(A) | Bal Gangadhar Tilak [B] Nelaji Subhas Chandra Bose
(C) Dadabhai Naorofi (D) Lala Lajpat Rai.
fore we1 ' e 90 wiae AfgErt § 7
(&) == TR e (B) Harsl W == |H
© wrETE et (D) e AEE T |
115. Rana Sanga is related to
&) Malwa (B) Khajuraho
(C} Mewar (D)  Mandu.
Tron wi Hefi ¥
(A) HTET @ (B) U |

‘©)  Harz R D "vEd
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116,

117.

118,

119,

120,

Kanishka started the Shaka era in
A}  AD B2 B AD7S8

() AD&2 (D) AD 88

W& HA Bl JEAW Hireh § = of

&) 623 # B 78%:

C 82%H D), 88%c#H |

Who was the first British Governor-General of India ?

(&)  Dalhousie (B) Hastings

[C) Clive (D) Canning.

ureE # wym fafen meit SRE Wl g 7

(A sEETs B) @

© o (D) &

The British invasion of which area led to the Sepoy Mutiny ?

(A) Oudh (B Bengal

(C)  Mysore (D) Delhi.

o & o sints s & w0 fauet fage gan W 7

(A)  =Ey (B) ==

€ g (D) fewett |

On independence India became a dominion. In which year did the dominion status
end ?

[A) 1947 (B) 1948

i) 1949 (D) 1950,

T T AR O faea 99 T o | fravem s e e ad @ gen 2
@ 1947 (B) 19487%

[C) 1949%¥ (D) 19507¥ |

Who was the last quemnr—ﬁencra] of independent India ?

(&) Mountbatten (B] C. Rajagopalachari
(C) Sardar Patel . (D)  Jawaharlal Nehira.
A A F e mEe SeRe e 2

(A) TETZEZ (B) Hte TS
([C) TR v (D) “EmEEE FEw |
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121. Who was the writer of Mahabharata ?
(A) Kalldas B Vedavyas
(©) Tulsidas (D) Kautilya.
TEIMAA ¥ oTEH Hi 4 ?
(a) =iferard B) =T
(C) e (D) wRifeed |
122. Who built the Red Fort ?
(A) Sher Shah (B) Humayun
(C) Akbar (D) Shah Jahan.
ara faren =1 Fmto feeaA fean @ ?
@ @TmE | T
© e D) vmEwEl |
123. Who was the first President of India ? )
{A) Dr. Rajendra Prasad (B) ~Dr.S. Radhakrishnan
{(C) Zakir Hussain (D) Jawaharlal Nehru.
T ¥ o gy WA A 2
@) Slo TR TEE (B) Efo UHo THIFMH
(C) T g (D) wEEETE AEE |
124. In whose memory was the Taj Mahal built ?
(A Noor Jehan (Bl Anarkali
(©) Mumtaz Mahal (D) Shah Jahan.
arermee =1 Fmin fFas grnr § e om o ?
W g B) e
(C) HHES HEE (D) TEwEl |
125. Which religion has 24 great teachers called Tirthankaras ?
(A) Hinduism B) Sikhism
{C) Jainism (D) Buddhism.
fopm wd § a3 T W 24 e aad € 7
W fegwd B Tawz ud
© o D) s ud |
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126,

127.

128.

129,

130.

Gautam Buddha preached his first sermon at
{A)  Prayag (B)
[C] .Gaya (D)
e g3 TEen wo=d 5 4

(A) wEmH (B)
(€ TH (D)
"Who was the last Mauryan ruler ?

(A) Bindusara (B)
() Devavarman (D)
sifan 9 w9 a1 2

@  fEgERr (B)
(C) eEeva (D)
Ancient Rome became a republic in

(A)  6th century BC (B)
[C)  lst century AD (D)
WA W wA TS g ?

() oo wd fudt od (B)
(€ 1w et (D)
The script of the Indus Valley Civilization is

[A) undeciphered (B)
(C) Persian (D)
ey w2t wvam =1 fafg #

(&) T ®)
(C)  HICH (D)
The Harappans did not know the use of

(&) Gold (B}
(C) Iron (D}
TEW F FHI WEI HTN TEF A 4

(&) HE (B)
(©) wrer = (D)

Lumbini
Sarmath.

giet §

gy oo

Chandragupta Maurya
Brihadratha.

=518 i
qE5Y |

3rd century BC
2nd century AD.

et wEt $wEt O
21 wEl =Et |

Sanslerit
Dravidian,

HEFA
wfag 1

Silver

Bronze.

=it =

a3 |
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132,

133.

134.

135.

2 Josh
Which animal is the attraction in Kaziranga National Park, Assam ?
1A Rhinoceros (B) Lion
(C) Tiger (D) Bear.
STE & I A9 T W S A e ¥ 2
@) o= |
(cy == (D) =g |
Once a French colcny, which place is the home of Aurobindo Ashram ?
() Chennal (B) Andamans
(C) Pondicherry [.D] Goa.
= T W TR wEE w5 wE SuE ara swfaw snawm =t Hiaw ¥, B WE ?
(A e (B) =AM
(© wvEEd (D) T |
Bombay High refers to
(A) offshore oil fleld (B) onshore oil field
(C} offshore gas field (D) onshore gas field.
e BT wefdE ¥
(A) e O EA W B wEdl e 8 E
0 wvae fwa= 4 (D) e T A
Which of the following became the 26th State of India ?
{4) Uttaranchal B8 Jharkhand
) Goa (D) Chhattisgarh.
i & etTE T A A A WA R ?
@) FEtEe (B) FEETS
) T (D) THETG |
Which of the following rivers does not originate in India ?
[P\ Kawveri (B] Narmada
(€) Brahmaputra (D) Ganga.
forey & @ - A w1 I vea H ¥ 7
(&)  =TEA B)
(C) e (D) Tm o
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136. Which is India's longest river ?
(A) CGodavari (E3) Krishna
(C) Mahanadi () Ganga.
YR i gEaH T4 B ¥ ?
(ay  TrErEd ®) F=m
(Cy ErETTE (D) T o
137. What is the time difference between GMT and IST ?
(A) 4 hrs 30 min {B) 5 hrs 30 min
() 6 hrs (¥ 6 hrs 30 min.
WAfa= \iea Hg a9l 9iEg THY JH9E & s Jegiade o ¥ ?
() a4 30 fHae (B) 5w 30 =
(C) 6HE2 (D) 6He 30 fHT=
138. Which of the following geographical features is not found in India ?
(A) Lagoon (B) Glacier
(C) lceberg () Desert.
fret B B w4 st wrea § el ard e & 2
(a)  HYE O (B) fewa=t
(cy et (D) HEEEE |
139. How many oceans touch the Indian mainland ?
A) 0 (B} 1
() 2 (D) 3.
W T o e merarr e § 2
(A O (B) 1
c 2 (D) 3.
140. In which state is Silent Valley located ?
(A) . Maharashtra (I3} Kerala
(C) Uttarakhand (ID) Kamataka.
Higeive deil Tovm Toa 4 fem & 7
(A) HETE (B) HTa

(C) IOEv=E (D)  =FAl==F |
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141. Banana and pineapples are malinly grown in the

(&) Tropical region (B) 'Meditcrranean. region
{C) Mountains (D) Desert oases.
FATE ERGHR

T amzm: mm H @ AT A i

€ weTEl s A (o) wEEEL H | ?

142. Which is the group of languages spoken by the largest number of people in India

(A Indo-Aryan (B) Dravidian

{C) Austro-Asiatic (D) Sine-Tibetan.
ﬁﬁ!ﬁ%ﬁmmaﬂﬂmaﬂmﬁmﬁ afies @ wen € ?

() s e B) wEE

(€ - (D) < fermadt

143. Which of the following are twin cities 7

Mumbai and Pune
Hyderabad and Secunderabad.

eard e o
frene ad faweTes |

Jammu and Kashmir

ASSAIN.

e -FeEIE B
HEA Y |

20
28.

20

() Delhi and Faridabad (B)
() Bangalore and Mysore (D)
g FR e e ¥ 2
(a) Feeett au wEER (B)
() s e FET (D)
144, The largest amount of saffron comes from
() Uttar Pradesh B)
(C) Kerala 18}
d et wen H et fae @
) IEWRE R (B3)
© F@A (D)
145. How many languages arc accepled in the Constitution of India 7
(A 15 (B)
cy 22 (D)
WA 3 dfere g e wrd T € 7
(A) 15 (B)
icy 22 (D)

28.
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146. The path of a planet around the sun is called its
(2 revolution (Bl rotation
(C) orbit (D) spin.
o & =il s fEdl sume w1 Ant FEer ¢ TE
() afEEEm (B) ORwEm
() SRE (¥ SHEFT |
147. The celestial body nearest to the earth is
{A) Sun (B) MMoon
(C) Venus (D) Proxima Centauri.
it % Tl Freaw wiiel fave ¥
GV < (B) ===
) F (D) Wi FUERT |
148. The equator does not pass through
(A) North America (B) South America
(C) Africa - (D) any of these continents.
yHYE Y e e #
(A) I8 i H 8 e @) sfueft sfes |§ | g
(€ FfFw § 8§ B (D) T | T TF AEEY
149. Large salt water masses smaller than oceans are called
(A} lakes (B) islands
A seas (D) rivers.
HETATR & @2 gea sEvita Seera wwend ¥
VI ' ® 79,
() | (D) ==
150. An area drained by a river and its tributaries is called a
) basin B) canal
() dam D) strait.
fereht 7€) offt TWFH WES! B0 AUATE & HEerm ¥
(@ W R B) TEI

) =g D) TA=UE |
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Your guide to success

48 D]

INSTRUCTIONS / f+im
{ Read carcfully and comply /& H 7§ W7 w7 )
IMPORTANT /

1. In Seclion-il, candidate has to attempt the questions of Hindi language compulsonty and any of the two languages — English or |

Urdu as per his/her Application Form,
ae- &, vt o e e & W e FT R T e S e - i s W 9 9 Tl o T A AR W OF

FE o B
2 im Section-ill, it is compulsory to attempd the questiona of Secuion (lila] or Section [i![hl o8 selected subject in Lication Form
-0 1 e 2R AR UF H (Ma) 20 (k) % fre e o wem F o ¢ w6 fawa @ we h

3. The eandidate must ensure that the Question Booklet Ko, has been filled correcily ai the prescribed place in the OMR Answer Sheet.
serd] gfftem %1 FF o i o e wae o s wetn w o b

i, Read complete insiructions careiully and fill the details in the OMR Answer Sheet and 31. No. 1 1 5 in the Question Boaldet. If
yoau Tail te Gl the details and s:pn A8 instructed carrectly, you will be personally responsitle for the consequences arizing during
scanning of your OMR Answer Sheet. _ )

Tkt = f O R _q-gshron;ﬂzqqm:#ﬁmmqﬁam[ =) o w1 Tl 3y e e R wl @ pEnn
w7 £ ot omr TiE E© e B o ol & oA am ey |

2. OMR Answer Sheet No. should be writteh in the %c provided in the Question Booklet.
oMR Viiz T W e § 6w Fdfor wem o e aed afin

1, The Questicn Booklel comprises 45 pages hanng 150 questions. After being ingtructed Lo open the Boaklet onty, the cundidates will
open the Question Booklet seal, Check whether the Booklet cotaing 150 questions siarting from Page No. 2 o 46,

o g ag v v 150 W ) it i e o & aaoen @ we i o W e T g s o s g
150 WV § T TR O T 2 W wRen 6T 46 1§

o All gquestions are of MCQ (Multiple Cholce Guestions) type. There i only one COrTecs Answer to each question carmying one
miark. There will be 2o Wm-ﬁnlhl;nmvgmam . .
ot e gt e % 1 W e w1 0w faned ot a0 e e o Tl Faif o v b e e & B e ot oft find i

5. In any event of any mistake in any gquestion/s, candidates will not be penalized. However no corrections will be mede in

Hon L L4 L .
%‘&f‘m%%ﬁ% W#MMﬂgmﬂﬂM| ot ot sy & Wil Tt W W W A

6. Rough work, if any, may be donie in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off
from the gucmmn Booklet, Mo additisnal paper mng be nnm‘?%u . .
it T o T W A W G % s & s S o B g W 7 1 | G v o i T e T T A

7. Use of Log tables, Calculator, Skide rulbe, Mobile phone, Pager, Diglial digry o7 any other electromic item/matrament eic, in miot
allawed. Thelr use wll result in disguoalification.
ey dupm, TAE F, ST w, o, Fedes sEnt W e e wwn o grtegifae T o aw W wm At b sk
aeiey o it W e it fwsm o :

8. OMR Answer Sheet in triplicate will be provided separately along with the Question Booklet.

A W & a oMR Titz, e (R ¥ T e W we ot i '

g, Adfter Question Booklet is issued to the candidate, the candidate qiust 61l in all the entries in the Question Booklet and OMR
Answer Sheet, After the Question Booklet seal is opened by the idate, hefahe should ensure that any page/question is Tot
missing | net printed | torn [ repeated. In case you find any effwt anywhere in the Question Bocklet, immediately inform the
Inwigilater and get it replaced by the Invigilator, . )

v W fmtn B e o A, areeqt we qfere o oMR TR wE H wd ot & of w1 owe w1
W % Tr St T e A b e Rt et g § 0 Ow we g ko ol o b oo e A ¥
g AT 5 T k1 A g SRR A W gt o ok o e e A g s @ e i e

10, Write your Question Bookles Mo, Roll No., OME Angwer Shest No., Question Booklet Code. Name and put your Signature in the
space provided in the Question Booklel as well as i the OMR Answer Sheet,
mqéﬂﬂ'ﬂnmﬁﬁzuzﬁlﬁ“mﬂﬂ W i T, T AR, o YiT HEN, W TR FE, AW 2w R w6

11, With eech question you will find 4 possible answers marked by the kifers' A, 8,.C & D. Read each question carefully and find
sut whtieh anawer, according to you i& correet. Indicate your answer by darkening the appropriate circle compleiely in the OME
Answer Shect correspanding to the question. For marking answers use black ballpeint pen anly.

TR W T AR O A6, ¢ 3 0 1 B B e o e o o W S W v o T T R oMR T § aaem
I I e 3t v ) e = g s gl o e & F e e A e I

Correct method : | eopmect ( wit | Wrong methed | | wRONG / Trem WRONG / TFR WRONG / TTHA | | WRONG / TR

i e - QQOE|™ ™ |IXEOD| |Feoe| |e0CD| | 00D

12.  OMFR Answer Sheet is designed for computer cvaluation. I you do not fllew the instructions given above and shown in the
OMR Answer Sheet, it may make evaluation by computer diffcult. Any resultant boss to the candidate an the above account
shall be of the candidate onby. ) 5wt A
OMR T F FEEE T G, T a1 e S IR o oM 7z A R v FRRT 1 oOmE o F, T g o
W I A | Y e ) el W EH A e o et Te e

13 Mo candidste should leave the Examinntion Hall before the Anal bell, After completion of the examination the candidate xhould
hand over the whale sei of OMBR Answer Sheet along with the Question Booklet to the Invigitator. The Invigilator will hand
owar the last part of OME Answer Sheet along with the Question Booklet to the eandidate while loaring the Examination

all, .
:ﬁwﬂmﬂaﬁnﬁa‘lm% T W A T o e S e A s e e /i oMR TR E & wi i
e 1 i 9 e WA OMR TR TE w1 A e st wlEn ww e & e e i




